log(L*/L* ) normalized LABJND lightness
log(L*gs/L*g5,1)
Ly normalized CIELAB lightness
log ( L*/L* )
LABJIND and CIELAB lightness
1 L*gs= (t/a) IN[ 1 + b (Y/Yy)]

a=0,3411 t=88,23 t/a=258,6 b=¥,=6,14
L* =116 ¢/Y,) - 16 (1,=100, 1< Y < 100)

log[(Y/AY) I (YIAY),] CIE Y contrast
normalized to (Y/AY),
CrlCry=(YIAV)(YIAY), LABIND & CIELAB
normalized Y contrast according to CIELAB
log [(Y/dY)/(Y/dY)] = (1/3) log(Y/dY,)

Ao 50 Y18 dy=0,83

L*,=50, Y,=18, dY,=0,83, {r/dY,)=22
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» application application
. range m,.=0,14 , range
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- -1 0 1 2 logY 0 1 2 logY
CET51-1A CES30-2A CET51-2A CES30-8A
log (L* g5/L* g51) normallzed LABJND lightness | [log[(Y/AY)/ (YIAY),]  CIE Y contrast

g5/ L*g5)
L¥/L* gg no CIELDE2000 lightness

LABJND lightness
L*gs=(t/a) In[1 + b (Y/Y)]

normalized to (Y/AY),
CICy =(YIAY)I(YIAY), LABIND & CIEDE2000!
Y contrast according to CIEDE2000
log[ (YIAY)/(YIAY),] = (1/3) log(Y/Y),)
L* =50, Y,=18, dY,=0,83
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............... - g e A
ogi(L> 85)/(L* 5,170, M;=0,43, ¢ 'y smmmmem m—
Ple 1 application application
R » range m,=0,14 range
> 0,1 ? 10 "Y,=18100y 1 1 10 "Y,=18100y
-2 -1 0 1 2 logY - -1 0 1 2 logY
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